
Model Paper Class 11th, 2018 
Time: 3 Hours       Applied MathMax.                Marks: 100 

-----------------------------------------------------------------------------
General Instructions: 

a) All questions are compulsory 
b) The questions paper contains 29 questions 
c) Question 1-4 in section A are very short answer type questions carrying 1 marks each 
d) Questions 5-12 in section B are short answer type questions carrying 2 marks each 
e) Questions 13-23 in section C are long answer type questions carrying 4 marks each 
f) Questions 24-29 in section D are long answer type questions carrying 6 marks each.  
g) There is no overall choice. However an internal choice is given in three questions of 

section C and three questions of section D. Do only one out of them.  

-------------------------------------------------------------------------------------------------------------------------- 

Section (A) 

Questions from 1-4 are of 1 mark each 

Q.No.1. If a set A has n elements. Then the number of subsets is  

  (a) ݊ଶ     (b) 2௡ 

  (c) ݊ܣ + 2    (d) 2݊  

Q.No.2. Polynomial equation of degree n has n roots.  (True/False) 

Q.No.3. The nth term of the sequence 1x2x3+2x3x4+3x4x5+……  is 
…………………. 

Q.No.4. For any real numbers ‘x’ and ‘y’, sin ݔ = sin ,ݕ  ݏ݈݁݅݌݉݅

(a) ݔ = ݔ (b)    ݕ = ߨ݊ + (−1)௡ 

(c) ݊ߨ + (−1)௡ݕ   (d) ݔ = గ
ଶ

+  ݕ

   

Section (B) 

Questions from 5-12 are of 2 mark each 

Q.No.5. If ቀ௫
ଷ

+ 1, ݕ − ଶ
ଷ
ቁ = ቀହ

ଷ
, ଵ
ଷ
ቁ. Find ‘x’ and ‘y’ 

Q.No.6. Find the multiplicative inverse of ܼ = √5 + 3݅ 

Q.No.7. Find first four terms of sequence ܽ௡ = (−1)௡ିଵ5௡ାଵ 

Q.No.8. Find the value of sin{ିଵଵగ
ଷ

} 

Q.No.9. Find the multiplicative inverse of ܼ = √5 + 3݅ 

Q.No.10.Find the slope of the line passing through origin and (2,3) 
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Q.No.11. Find the sample space when a coin is tossed twice. 

Q.No.12. Check if the vectors ܽ⃗ = 3ଓ̂ + 2ଔ̂ and  ሬܾ⃗ = 2݅ − 3ଔ̂ are 
orthogonal. 

Section (C) 

Questions from 13-23 are of 4 mark each 

Q.No.13.If ݂ = {ቀݔ, ௫మ

ଵା௫మ
ቁ : ݔ ∈ ܴ} be a function from ܴto ܴ. Determine the  

range of ݂ 

Q.No.14. Express the following in the form of ܽ + ܾ݅ 

 
(ଷା௜ඥହ)(ଷି௜ඥହ)
൫√ଷାଶ௜൯ି(√ଷିଶ௜)

 

    Or 
Solve for x;   √3ݔଶ − ݔ2√ + 3√3 = 0 

Q.No.15. Find the sum of ‘n’ terms of an A.P whose kth term is 5ܭ + 1 

Q.No.16.Prove that ୱ୧୬(௫ା௬)
ୱ୧୬(௫ି௬)

= ୲ୟ୬௫ ା୲ୟ୬௬
୲ୟ୬௫ ି  ୲ୟ୬ ௬

 

Q.No.17. Find the value of other five trigonometric ratios, givencos ݔ = ିଵ
ଶ

 ݔ ;
lies  

InIII quadrant. 
 Or 

Prove the following; 

cos ݔ9 − cos ݔ5
sin ݔ17 − sin ݔ3

=
−sin ݔ2
cos ݔ10

 

Q.No.18.Find the value of ‘r’ if 5௉ೝ = 6௣ೝషభ 

  Or 

 How many chords can be drawn through 21 points on a circle. 

Q.No.19. Find the value of sin{ିଵଵగ
ଷ

} 

Q.No.20. Find the slop of the line passing through origin and (2,3) 

Q.No.21. A letter is chosen at random from the word “ASSASSINATION”. Find 
the  

probability that letter is: 
   
(I) a vowel   (II) a consonant  
Q.No.22.Find: 
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 (I) Dot product of;ܽ⃗ = 3ଓ̂ + 2ଔ̂ − 6 ෠݇ and  ሬܾ⃗ = 2ଓ̂ + 4ଔ̂ + 6 ෠݇ 

 (II) Cross product of; ܽ⃗ = 2ଓ̂ + ෠݇ and ሬܾ⃗ = ଓ̂ − ଔ̂ 

Q.No.23. If ABCDE is a pentagon. Prove that AB


+ BC


+CD


+ DE


+ EA


=0


 

Section (D) 

Questions from 24-29 are of 6 mark each 

Q.No.24. Let ܷ = {1,2,3,4,5,6,7,8,9} 

ܣ   = ܤ  {2,3,5,7} = {1,4,6,8} 

  Find:  (I)  ܣᇱ ∩ ܾᇱ 

   (II) Verify; (ܣ ∪ ᇱ(ܤ = ᇱܣ ∩ ܣ) ᇱ andܤ ∩ ᇱ(ܤ = ᇱܣ ∪  ᇱܤ

    Or 

  Find the domain and the range of the function; 

(ݔ)݂   = √9 − ଶ ݔ ݔ ∈ ܴ 

 Q.No.25.If ߙ and ߚ are different complex number with │β│=1. Find; 
1 2
 





 

  Or 

Convert the complex number ܼ = ௜ିଵ
ୡ୭ୱഏయା௜ ୱ୧୬

ഏ
య
 in the polar form. 

Q.No.26. Sum of first p, q and r terms of an A.P are a, b and c respectively. 
Prove  

that;   ௔
௤

ݍ) − (ݎ + ௕
௤

ݎ) − (݌ + ௖
௥

݌) − (ݍ = 0 
 Or 

Find the sum of the sequence 7, 77, 777, … to n terms. 

Q.No.27. In how many of the distinct permutations of the letters in 
MISSISSIPPI  

do the four I’s not come together. 

Q.No.28. If p and q are the lengths of perpendiculars from the origin to the line  

ݔ cos∅ − ݕ sin∅ = ݇ cos 2∅andݔ sec∅ + y cosec∅ = ݇ respectively. Prove 
that ݌ଶ + ଶݍ4 = ݇ଶ 

Q.No.29. If E and F are the events such that ܲ(ܧ) = ଵ
ସ

(ܨ)ܲ; = ଵ
ଶ 

 

and (ܨ ݀݊ܽ ܧ)݌ = ଵ
଼
. Find;  

(I) ܲ(ܨ ݎ݋ ܧ)   (II) ܲ(ܰܨ ݐ݋ܰ ݀݊ܽ ܧ ݐ݋) 
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